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Q.1. The H.C.F. of two numbers is 23 and the other two factors of their L.C.M. are 13 1 point
and 14. The larger of the two numbers is: *

@ 322

324
326

328

Q.2. Three number are in the ratio of 3:4 :5 and their L.C.M. is 2400. Their H.C.F.is: * 1 point

80

120

200
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Q.3. The G.C.D. of 1.08,0.36 and 0.9 is: * 1 point

@ o018
() 036
() 090
() 0.09

Q.4. Find the lowest common multiple of 24, 36 and 40. * 1 point

() 180
() 320
() 480
@ 360

Q.5. The H.C.F. of two numbers is 11 and their L.C.M. is 7700. If one of the numbersis 1 point
275, then the otheris: *

() 312
@ 308
() 324
() 420



Q.6. The ratio of two numbers is 3 : 4 and their H.C.F. is 4. Their L.C.M. is: * 1 point

@ 48
O 36
O 2
O 16

Q.7. Find the highest common factor of 36 and 84. * 1 point

Q.8. The L.C.M. of two numbers is 48. The numbers are in the ratio 2 : 3. Then sum of 1 point
the number is: *

() 32

40

28

O 0 ®

64



Q.9. The HCF of two numbers is 8. Which of the following can never be their LCM? * 1 point

() 24
() 48
() 56
@ 6o

Q.10. If the LCM of two numbers is 750 and their product is 18750, find the HCF of the 1 point
numbers. *

@® 25

30
55

125

O O O

Q.11. HCF of 3/16, 512, 7/8 is: * 1 point

@ 1/48
() 2/47
() 3/47
() 5/48



Q.12. The least number which when divided by 8, 12 and 16, leave in each remainder 3, 1 point
is? *

61

81

71

Q.13. The least square number which divides 8, 12 and 18 is? * 1 point

@ 144

169
189

400

Q.14. Three numbers are in the ratio of 2: 3 : 4 and their L.C.M. is 240. Their H.C.F.is: * 1 point

40

60

80



Q.15. Given : Three numbers 17, 42 and 93. Find the largest number to divide all the 1 point
three numbers leaving the remainders 4, 3, and 15 respectively at the end? *

@ 13

17
78

89

Q.16. A number when divided by 36, 24 and 16, leaves the remainder 11in each case. 1 point
Find the smallest value of this number. *

36
144

133

@ 155

Q.17. Find the lowest common multiple of 24, 36 and 40 * 1 point

120

240

® 360

480



Q.18. What is the least multiple of 7 which leaves a remainder of 4 when divided by 6, 1 point
9,15~

343
350

374

@ 364

Q.19. The H.C.F. of two numbers is 5 and their L.C.M. is 150. If one of the numbers is 1 point
25, then the otheris: *

20
28

24

Q.20. Which of the following fraction is the largest ? * 1 point

@ 7/8

13/16
31/40

63/80

YOUR ANSWERS ARE SUBMITTED SUCCESSFULLY. PLEASE CHECK YOUR MAIL TO VIEW
YOUR SCORE AND RESPONSE SHEET. THANK YOU!!!
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